05.32 TpyGonpoBo HANIOPHOTO BO3AyXa (IeTau)

I S . =

r HE e ”--WJ_.-I I A R - 1
| “ | P 3 2 . | oy | “
“. M.ﬂmﬂnmwnmme Hmaamnﬁm
H [ 1 1 |
| mx\m.umka,mbm &mﬂw | o mgﬂgm
i ! 1 I i . I 1 i
_m. |||||||||| h..|||||.r.. R J..:.u... ||||| a pleoq pommdoeees .._..__.I_IH_._._I ||||| “.”__Lﬁ ||||| ;
! iy, ! o I 11 T
e | )
!
o AT
b
1 1
' - mee
4
| 6 -
T N
I =R B I
I
| r
. Bode \
L]
mr. IIIIIIIIII ““. IIIIII .._._..“Iill.. Fll- —=2 mmeer c.llllill“l”ab..c.....fllll.n.l.._ r..r...IILIllu...lI._.I.........._,I.l.I.-._n
i ] | _ | : i | 1
“ @ amo | D0 200 8 ne | B9 |
_ P o—g | ! | - ! :
[ - i | 1 P M i | 2w i
“ A g e & n®2 2R ' P~ I
[ ! 1 ] ! - I I '
I I SN | R S [ S =l ——




Ne B Ne o
Haumenosanue [Ipumeuanue

pPUCYHKE| KaraJory

001 | 2053760014 |[KomeHo

002 | 4436120810 |[Kiaman oOpaTHbII 443 612 081 001

003 | 3119013240 |KoipI10 YIUIOTHUTEIHEHOE 22 x 27 CSN 02 9310.2

004 | 4436111500 [ITpoknaaka 12 x 20 x 1,5 4200.04

004a | 4436111500 |[Tpokmaaka 12 x 20 x 1,5 4200.04

004b | 4436111500 [[Tpoknanka 12 x 20 x 1,5 4200.04

005 | 2052520124 |T"aiika

005a | 2052520124 |laiika

006 | 3119080520 |l"aiika 3amopHas M22 x 1,5 T 815 CSN 13 7968.2

007 | 2053650654 |Mydra TpyOuaTas

008 | 3111102090 |T"aiika M12 x 1,5 1SO 8675 - 04 MKS 720

009 | 9904000090 |I1Iaiiba 13 430-4210

010 | 4436121560 |CoennHeHHE KOHTPOJIBHEIC 03.9701.00 A124.20.21.15/72

011 | 2053730064 MydTa TpyOHas

012 | 2053650644 |Mydra TpyOuaTas

013 | 3111102110 |T"aiika M14 x 1,5 1SO 8675 - 04 MKS 720

013a | 3111102110 |l"aiika M14 x 1,5 1SO 8675 - 04 MKS 720

014 | 3111105390 |I1laiiba 15 CSN 02 1702.1 MKS 720

015 | 3119080220 |I'opnoBuna 8 T815 CSN 13 7854.22

016 | 3119013080 |KoibI10 YIUIOTHUTEIBEHOE 14 x 18 CSN 02 9310.2

017 | 2053740074 |Tpoiinuk

018 | 3119080620 |3axwm 6 CSN 13 7993.22 T 815

019 | 3119013060 |Kosblio YyIIIOTHUTEIBHOE 12 x 16 CSN 02 9310.2

020 | 2053621584 |YronpbHUK MOBOPOTHBIN

021 | 2052520104 [I"aiika

022 | 2053651004 |ITyuep

023 | 2050360784 |Konbiio HAXKUMHOE

023a | 2050360784 [Konbiio HAXKMMHOE

024 | 3191103880 |IIpobka M18 x 1,5

025 | 3119013170 |Kosblio YIIIOTHUTEIHHOE 18 x 22 CSN 02 9310.2

026 | 4436111200 |Koneno Z 691 16 831

027 | 2053760134 |[KomeHo

028 | 3111102140 |T"aiika M16 x 1,5 ISO 8675 - 04 MKS 720

029 | 3119013300 |KoibI10 YIUIOTHUTEIEHOE 27 x 32 CSN 02 9310.2

030 | 3194110360 |I'opnoBuHa Js 6 CSN 13 7850

032 | 3119013120 |KoibI10 YIUIOTHUTEIHEHOE 16 x 20 CSN 02 9310.2

033 | 3191102210 |3axum M10

034 | 3119080640 |3axum 8 CSN 13 7993.2 T 815

035 | 2053740984 |[Tyuep

036 | 2053740734 |UITyuep

037 | 3194110390 [I'opnoBuHa Js5

037a | 3194110390 |['opnoBuHa Js5

038 | 2054440324 |Beon

039 | 2954430014 |3armymka

039a | 2954430014 |3armymika

040 | 3194110470 [Tyuep Js 8

041 | 2053740724 |UITyuep

042 | 3194110420 [I'opnoBuHa Js 8 CSN 13 7880




Ne B Ne o
Haumenosanue [Ipumeuanue
PUCYHKE| KaTaJory
043 | 2053651214 |I"'opnoBuHa
044 | 3119013290 |Kousblio YyIIIOTHUTEIBHOE 26 x 32 CSN 02 9310.2
045 | 2053651004 |UITyuep




